

Multiply by 10^{-3} (B)

Find each product.

$$9.33 \times 10^{-3} =$$

$$6.19 \times 10^{-3} =$$

$$7.975 \times 10^{-3} =$$

$$0.61 \times 10^{-3} =$$

$$6.1 \times 10^{-3} =$$

$$7.4 \times 10^{-3} =$$

$$0.19 \times 10^{-3} =$$

$$0.551 \times 10^{-3} =$$

$$8.4 \times 10^{-3} =$$

$$6.77 \times 10^{-3} =$$

$$3.36 \times 10^{-3} =$$

$$7.9577 \times 10^{-3} =$$

$$4.8549 \times 10^{-3} =$$

$$9.8476 \times 10^{-3} =$$

$$0.043 \times 10^{-3} =$$

$$0.8 \times 10^{-3} =$$

$$2.1 \times 10^{-3} =$$

$$2.5 \times 10^{-3} =$$

$$9.5368 \times 10^{-3} =$$

$$6.476 \times 10^{-3} =$$